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y = log  x  can also be written in exponent form as  x = b     

      so  y = log  x is the same as  x = 2 
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this is similar to y = 2    but with the x and y  values swapping places
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So if we got lots of points on the curve y = 2    and swapped the x and y 

values round we would get the curve x = 2   (the inverse of y = 2   ) 
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x = 2   (which is  y = log  x ) is a reflection of y = 2   in the line y = x
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The log is the inverse of the exponential function

The log is a reflection of the exponential in the line y = x

So to get y = log  x , get coordinates for points on y = 2  and reverse them
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(2,4) on y=2  goes to (4,2) on x=2

                                           on y=log  x
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Notice the asymptote is now vertical   (y-axis) 

and the basic log graphs all go through 1 on the x- axis.

The key point is on the asymptote 

where the asymptote and curve are 1 

apart

key point

1 apart

To find the base:-

 move 1 along the asymptote 

then how far you need to move 

sideways to reach the curve gives you 

the base

key point

base is 3

Key point has moved 2 right and 1 up, base is 3, equation is  y = log  (x - 2) + 1
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y = log  x
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key point

key point

moved  0 sideways

             3 down

base = 2

base = 3

moved  2 left 

             0 vertical

base = 4

moved 1 right 

            3 up

Equation  y = log  x - 3
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Equation  y = log  (x + 2)
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base = 3
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y = log  (x - 1) + 3
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key point

moved 5 left

            3 down

base = 2

Equation  y = - log  (x + 5) - 3

        inverted

(upside down)
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